)

\\\l\\

D
‘“\“\\“

1
”‘r“nn'"

“““\“\
SO M
o

Il\l“

1)

I

LT
1!
,........»m!!!!)m..,....,

I
/4

—

I\\\\\\\II\

T

T

T

\\\\\\\\\\\\\\I\\

gl

ST
\i

)

7

i

iy,

\

)

\

/!

»,\‘

1y,
7

/i

i

Wiy,

Ui

/

i

)l

/i

—
S

Q

e

%

24/04/2024



862 x 645 X 176

630 x 340 x 65

ey

i

7

j

7

0

/)
7

1
1
1

=
\“‘\‘\‘\\“‘ﬁ\‘f\‘fﬁ\n

T

T

'lillI"‘

pi
nu’uumluu"un

uluuunlunn '/,

1!

T,
|11}

T

S

iy,
i
£

/s

(2

2/8




AX2 Bx2 Cx2 Dx?2 Ex4
&S
Ve @ S
M6X75 mm 29x12x7.5 mm M6/10 mm M6/310x48 mm M6x90 mm
Fx6 Gx6 Hx4 Jx4 Kx1
@ | <o |
@6 mm @6/312 mm @8x30 mm 30x20x3 mm 10 mm
Lx1

4 mm

3/8




Ax2

7~

M6x75 mm

=

S S
S

=50
< i

Hx4

&

@8x30 mm

4/8




Bx2

i

29x12x7.5 mm

Cx2

&

M6/10 mm

Kx1

10 mm

@6 mm

Gx2

S

@6/312 mm

90%

Ex4

M6x90 mm

Fx4

@6 mm

26/012 mm

Dx2

&

M6/210x48 mm

Lx1

4 mm

5/8




Jx4

30x20x3 mm

—

-

!

T
\!

i g

|"“

o
===—====
T

A

I\ ———————

i

———————A,m
N

=====_===
====

e
Es_EEEEEE.\

S

===—==========_==“

/,./,/,/,/_/,/,/,2,/, =

L
o

====

i
\ )

A
N
0
M%/%%
i
i

£
/

-

\

”” i
N
”

\
\
i

\

A

./, .‘ %,/ LN

\
T

!

i
TN TN

_\\

).
IS )

Wz
,,,,,,é,,,‘ v
==—\

TN
vm,,,.,,}‘,m‘ unm\,\’\'\’\,\

1|
=l

'\Y

e
—

(7

I
I
D

6/8



Lx1

4 mm

s

i
A
|

I

T —=———————/—”—/—————“—Nﬂ,——/,——/—/f A// ““
m R
v |
L
L
e
.

e L
. o
L 0
.
-
.
L

./,./,/MEEE/—,.E/,_E/:_,.E/J
.
o

,:,:/,MM“/,”:M/,//
,y/,
/% .
i
A R \
/ :é | :
A .
N ”_///,2/

,/,/,/,/,/, Il ,u‘
N S)

/.
/z

/ﬁ_/z‘///g’—y:::
[N
[N
LN}
N K “
o " W
S P N
x AN
E \ A\Y
\
\
\
AY
—
o
>
o
o N
— X
(&) x

10 mm

7/8



A

T
pou
/4

Ty
Y

2
2
%
’

.
11
S

1}

,_,_,_,_,_,_,_,,,,,,,é_,_,y,y,y,_q,,_,%,,y,

8/8



